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QUESTION 1

Which three are true about the Oracle Optimizer? (Choose three.)

A. It obeys all hints.

B. It considers the filters in WHERE clauses when generating execution plans for SQL statements.
C. It can re-optimize execution plans after previous executions detect suboptimal plans.

D. It considers object statistics when generating execution plans for SQL statements.

E. It updates stale object statistics in the Data Dictionary.

F. It can only use SQL Plan Directives tied to the SQL statement for which a plan is being generated.

Correct Answer: BCD

QUESTION 2

Which three are true about Rapid Home Provisioning (RHP), which has been available since Oracle 18c? (Choose
three.)

A. It is an Oracle Database service.

B. It can be used to deploy Oracle Database homes.

C. It cannot be used to provision applications.

D. It can be used to deploy Grid Infrastructure homes, including Oracle Restart.
E. It cannot be used to provision middleware.

F. It is an Oracle Grid Infrastructure service.

Correct Answer: BDF

Reference: https://blogs.oracle.com/db_maintenance/rapid-home-provisioning-server-minimun-requirement

QUESTION 3

Which three are true about an application seed pluggable database (PDB)? (Choose three.)

A. It is automatically synchronized with its application root PDB when an application is upgraded.

B. It cannot be added to an application container after the application container has already been created.

C. A new application PDB created by cloning an application seed PDB can have an old version of the application
installed after cloning completes.
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D. It is automatically synchronized with its application root PDB when an application is installed.
E. It cannot be dropped from its application container.

F. A new application PDB created by cloning an application seed PDB can have an up-to-date version of the application
installed after cloning completes.

G. Itis not required in an application container.
Correct Answer: CFG

https://docs.oracle.com/en/database/oracle/oracle-database/19/multi/creating-removing-application-containers-seeds-
with-sqgl-plus.html#GUID-065649AC-18ED-4858-ACC5-36F011362A83

QUESTION 4

Which two are true about common objects? (Choose two.)

A. They can be created only in CDB$ROOT.

B. They can be only metadata-linked in an application container.

C. They can exist in user-defined schemas only in application containers.

D. They can exist in CDB$ROOT and an application root.

E. They can be extended data-linked in CDB$ROOT.

F. They can be created only in an application root.

Correct Answer: DF

A common object is defined in either the CDB root or an application root, and can be referenced using metadata links or
object links. A local object is every object that is not a common object. Database-supplied common objects are defined
in CDB$ROOT and cannot be changed. Oracle Database does not support creation of common objects in CDB$ROOT.
You can create most schema objects-such as tables, views, PL/SQL and Java program units, sequences, and so on—as
common objects in an application root. If the object exists in an application root, then it is called an application common
object. ACCORDING THE LECTURE, CORRECT ANSWERS ARE: DF

D: they can exist in CDB$ROOT and application root.

F: they can be created only in application root.

Reference: https://blog.toadworld.com/2017/08/01/oracle-multi-tenant-application-containers-part-iii-sharing-of-data-in-
application-common-objects

QUESTION 5
Examine this configuration:

1.
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CDBL1 is a container database.

2.

COMMON_USER_PREFIX is C##.

3.

PDB1 is a pluggable database contained in CDB1.

4,

APP1_ROOQOT is an application container contained in CDBL1.
5.

APP1_PDB1 is an application PDB contained in APP1_ROOT.

You execute these commands successfully:
$ sglplus sys/oracle 4U@localhost:1521/cdbl as sysdba

SQL»> CREATE USER c##userl identified by oracle 4U container=all:
User created.

5QL> ATTER SESSION SET CONTATNER=pdbl;
Session altered.

SQL> CREATE USER pl userl identified by oracle 47U;
User Created.

SQL> ATTER SESSION SET CONTEINER=appl_rDGt;
Session altered.

SQL> ALTER PLUGEABLE DATABASE APPLICATION appl_cdbl_app BEGIN INSTATI. '1.0f;:
Session altered.

SQL> CREATE USER appl userl IDENTIFIED BY oracle 4UT;
User Created.

SQL> ATLTER PLUGCABLE DATABASE APPLICATION appl cdbl app END INSTALL ‘1.07;
Pluggable database altered.

Which two are true? (Choose two.)

A. APP1_USERLI1 can be created in PDB1.

B. APP1_USER1 can be created in CDBL1.

C. APP1_USERLI1 can have different privileges in each Application PDB contained in APP1_ROOT.
D. C## APP_USERL1 can be created in CDB1.

E. P1_USER1 can be created in CDBL1.
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F. C##_USERL1 will have the same privileges and roles granted in all PDBs in CDB1.

Correct Answer: AD
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